EARAROBREBRT —5 XN—ZXBISH—F

202388198 (£) 2@4LiE3H

UL ALRERIZRR—YE 2B50 5 U5%R3KLE (BE) HEE /\VT

BRI

[A&=%] 1 7% :15,500,000 §  237&:6,200,000 .~ 375:3,900,000 43&:2,300,000H  53&:1,550,000

SR RESS /M 3 BF (F8) |94L (B% | @BIEG | L3F S | AT | #E | A% FB) / BE / £E%S
== Ty 5 | MRFE— 2:46.0 1-1-1-1 | 34.9101.1| 3 490 | VHEt (FEH)

1Ml 5| SRFU—Dx4 [B] A - oy | B HEL—ZK—2
RiIvRIVIA BITIY—NADzA #HBEIT7—L

¥ = . 3 | Edk 2:46.1 9-10-6-2 | 34.6 | 100.7 | 1 464 | HPEE (RFR)

207111 T-WFTVYRFYT E 52.0 (3/4) 46 | T-AL—Y¥T

RiT—=ILRYY T B:XAY3vIzA Ee]
Y )~ o o4 | )IIEREH 2:46.2 2-2-2-2 | 35.0| 97.9 | 2 450 | PREFRIE (ER)
3/5/8|9/VTvvAlb * 57.0 ) “10) | @) I/vI2
R:FA=TAVNIN BAVTF4T7FF v TATAT7—1A
s t 4 | C. ILX=)b 2:46.3 7-7-3-2 | 34.9] 98.5 | 4 48 | REBR (FER)

4 2 IR £ 55.0 (3/4) (+4) TLRL—YoT

RiF4—TAVINT s B:21-O0Yv—U—V J—HYTr—I
o4 | B2 2:46.7 12-12-9-6 |35.0| 94.3 | 5 476 | EEFIE— ()

5/111|*FvibL [B] 560 217 ) |ERR
RIN—EVIv— B:IR*EY /=YY Tr—I
)= 8 4 | FBRER 2:46.8 9-9-9-12 |35.1| 9.2 | 8 34 | KEEER )

oM 10 ¥—73R 54.0 (1/2) © | @ FSTLyRIST.S5T47
RiI=ILRYY T B:vA2TFLET7 EvIUy RI7—L4
\ 3 3 | REE 2:47.1 9-10-9-8 |35.5| 83.4 | 11 | 442 |1ERE GH)

718114 YLUTI 54.0 Q (1) |MBIETS
RiW—=5—=ywF B:IVzA5(44Y3D P ]

S, — R -~ s 5 | dERR— 2:47.3 7-7-9-11 |35.6| 80.5 | 13 | 456 |/&E (ER)

81712 ®EIRN—RT 11— 52.0 (1 1/4) (+8) J||IU%§:
RiW—5—=yvF B:EVITTI4— LENEKE

— 6 | H&LLEE3), 2:47.5 14-14-13-13| 35.4 | 82.4 | 12 | 446 |EH=MER (RW)
9|57 |914=IN— [B] " 54.0 (3/4) (g | W) F—T7—x
RiF4—=FAVNT~ B:UvRY /=Y ITr—1L

~ ISR : -12-13- KEB— ()

10 6| FUEITIRR 6 e (21417/47) 12-12-13-13| 35.6 | 77.9 | 14 (‘ﬁ; S
RIFVITHAANXN B:FVTINVYDH BRLUEDHUS

S _ o6 | J. EUAS 2:47.7 4-4-6-8 | 36.2| 68.6 | 6 518 | IS (FH)

1KY 3| P/ YvO—-L4 56.0 F9%) o |E2E

R:O—RAHrrO7 B:yvL0OvAH— /=Y Tr—I
— =B : -3-3- THE &R

1 9| BR/ZRF—T (B] 43 = (;zg% 3-3-3-2 [ 36.4| 65.8 | 10 (4:33 i

R:lInto Mischief B:FLATUF1— HEIT7—L
<N # 5 | ERKRKE 2:47.9 4-6-6-8 | 36.4| 64.5 | 9 470 | BAEX (E#)

13 4 94 2VI)I—7 51.0 (1 1/4) o) EJ(HE) oA
R:I—=ILRYY T B:OREINLTRE ARETa2—T7—LA
= o1 4 4 | SHEA 2:48.0 4-4-3-6 |36.6| 61.1 | 7 478 | SNET (FH)

14/ 8113| ZPILER > [B] 55.0 (1/2) © |, @) #HEL—REK—2
RiN—EVIv— BFVRATZ—H BT 7—L4A

[ BN

Eh' 47.2-34.9

NOYFA L | 13.7-13.6-13.8-12.8-12.3-13.3-13.5-13.0-12.8-12.3-11.9-11.5-11.5

@ I1—JF—BEBIEfI

13—7F— 5,8,9(3,4,13) (2,12) (14,10,11) (6,1)-7

20—7F— 5,8,9(3,13)4(2,12)10(14,11) (6,1) -7

30—7— 5,8(2,9,13) (3,4,11) (14,10,12,1)-(6,7)

43—F— 5(2,8,9,11) (13,1) (14,3,4)12,10(6,7)

o ILRE

B 5 5504 JA R 5-1 480 AR 4-7 1,570 3EE 5-8-11 1,930

B B 5 170 5-8 5304 /B E 5-11 1,410 3EE 5-11-8 12,960
1 1504 8-11 420/ o= 5-11 3,350
8 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




